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3rd Semester Examination

Full Marks : 40 Time : Two Hours

The figures in the margin indicate full marl*.
Candidates are required to give their answers

in their own words as far os practicable.

Group - A

Answer anYlive questions: 2x5:10

l. What hit ratio is required to reduce the effective

memory access time, from 200 ns to 140 ns, if the

cache access time is 20 ns?

'. Match List-I with List-tr selected the correct answer

using the codes given below the list:

P.T.O.

v-3/26 - 800

List-I List-tr
A. Disk scheduling I Rourd Robin

B. Batch Processing 2. SCA].{

C. Tinrc sharing J. LIFO

D. kfiem.pt Processing 4. FIFO

[Operating Systems]
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ffi (4)
(iii) Given memory partitions of 100K, 500K 200K,

300K and 600K (in order), how would each of
the algorithm (first-fit, best-fit, worst-fit) in parts

a, b and c place processes of 212K, 417K,
112K and 426K (in order)? Which algorithm

makes the best use of memory?

(iv) What is Zombie process in OS?

(v) Consider a logical address space of eight pages

of 1024 words each, mapped onto a physical

memory of 32 frames. How many bits are there

in the logical address and in the physical

address? 2+2+3+l+2

', fr What role do process states play in the

/ management of processes within an operating

system? Discuss about different process states.

2+3

What is the significance of Process Control
Blocks (PCBs) in the context of process

management? 2

qr6 Ho* does the operating system handle Inter.

/ Process Communication (IPC)? 3


